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Figure 6-14. Variation of instantaneous vorticity contours [Broken line ( minω , maxω , 
ωΔ )≡ (-20.22, -0.608, 0.862); Solid line  ( minω , maxω , ωΔ )≡ (0.218, 14.26, 0.862)] with 

Reynolds number (Velocity ratio 3:2 and L1=6). Continue… 
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Figure 6-14. Variation of instantaneous vorticity contours [Broken line ( minω , maxω , 
ωΔ )≡ (-20.22, -0.608, 0.862); Solid line  ( minω , maxω , ωΔ )≡ (0.218, 14.26, 0.862)] with 

Reynolds number (Velocity ratio 3:2 and L1=6). 
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Figure 6-15. Variation of instantaneous vorticity contours [Broken line ( minω , maxω , 
ωΔ )≡ (-20.22, -0.608, 0.862); Solid line  ( minω , maxω , ωΔ )≡ (0.218, 14.26, 0.862)] with 

Reynolds number (Velocity ratio 3:1 and L1=10). Continue… 
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Figure 6-15. Variation of instantaneous vorticity contours [Broken line ( minω , maxω , 
ωΔ )≡ (-20.22, -0.608, 0.862); Solid line  ( minω , maxω , ωΔ )≡ (0.218, 14.26, 0.862)] with 

Reynolds number (Velocity ratio 3:1 and L1=10). 
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Figure 6-16. Variation of instantaneous vorticity contours [Broken line ( minω , maxω , 
ωΔ )≡ (-20.22, -0.608, 0.862); Solid line  ( minω , maxω , ωΔ )≡ (0.218, 14.26, 0.862)] with 

Reynolds number (Velocity ratio 3:2 and L1=10). Continue… 
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Figure 6-16. Variation of instantaneous vorticity contours [Broken line ( minω , maxω , 
ωΔ )≡ (-20.22, -0.608, 0.862); Solid line  ( minω , maxω , ωΔ )≡ (0.218, 14.26, 0.862)] with 

Reynolds number (Velocity ratio 3:2 and L1=10).  
 
 
 
 
 
 
 
 
 
 
 




